RIGOUR

W mTH 3-11b
) Outcome 1 - Finding the Diameter

* Calculate the diameters of the following circles...
C=62-8cm C=7222 mm C=12246 cm| L

[ENONS

& C-1256m & C=24492m & C=260-62cm
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Homework 5

Level
Outcome 2 - Calculating the Radius

Calculate the areas of the following circles...
A=314cm? A= 1256 m? A = 2826 mm?

@ “ @
& A=477594m* 5 A=7850m?

ORG,

g

& A=282600cm?

Outcome 3 - Perimeter - Missing Sides
Calculate the missing sides in the shapes below...

Perimeter = 182 cm Perimeter = 246 m

?m
& 65cm 50 cm &
48 m 54 m
?cm 70 m

w9 Perimeter=150m -ﬁ

Perimeter = 84 mm

Regular 15 mm

? m \ Pentagon

? mm

)

Outcome 4 - Composite Area
Calculate the areas of the following composite shapes
12m 14 m

40 m
‘J' Bm
2lm
55 m
37 m
28 r_m;n 6m4>
&
< 3 126 - 40 cm
48 mm
40 cm
\ -
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